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Note:

1. Tick the correct option out of four alternatives provided
2. All questions carry equal marks (2 Marks each)

3. There is no negative marking

Negative

Sr. | Client Question . .
Question Body and Alternatives Marks Marks

No. 1D
Trade Theory

1 What is the name of transformer? 2.0 0.00

TR &1 H T 82

ET1H08X1

fM Auto transformer

3ffel IR
{\2 Core type transformer
PR YHR BT B

{\3 Shell type transformer

U TBR BT TRABIER

.A4 Audio frequency transformer

3iifsar engf cramER
Trade Theory

2 Which value is equal to one picofarad? 2.0 0.00

B I HA TP DS $ /R 87

,Al 10° Farad

10° Farad
A2
. 10'2 Farad
10'2 Farad
A3

. 10 Farad
10 Farad
:A4 1012 Farad
10712 Farad
Trade Theory

3 3 Which property of the capacitor stores electrical energy in electrostatic field? 2.0 0.00

TR &1 B A1 0T s fe s & | fagyd e Gugia el 2




‘_M Dielectric

SENICEC

‘:Az Capacitance
YR

{\3 Stray capacitance
¥ Py

?4 Capacitive reactance

Foffes fRuawm

Trade Theory

‘Which unit is used to measure capacitance value?

TYTRA & A D) HIG & 1T {8 318 1 SuaT fobam oirar 82

_Al Mho
Mho
A2 Ohm
Ohm

63 Farad

Farad

A2+
A3 e, e

1/C 4+ 1/C, + 1/C,

A4 1c, + 1C,
y 1/C,

A Trade Theory
How much is the impedance of the circuit?
Hdhe &1 ufrarem e gim 2
RE0Q
— | Yc0
— I
0 0 i
0
fM 20Q
20Q

30Q

2.0




300Q
A3 400
400
A 500

50Q
Trade Theory

Which formula is used to calculate the impedance (z) of a RLC series circuit?

RLC 9l Tfdhe & i (z) Bt T0HT 3 3 R {35 T o1 SuaT o wrerr 82
Al
2Ry ~xf
A2
Z={R-{x ~x,
A3
=R +x ~x,
A4

Z=, R2+X|_"X: 2

How the resonance frequency (f}) can be increased in AC series circuit?

it Aoft wfhe & eigTe MR (1) Y P TGN I Febell 82

Trade Theory

Al Increasing the inductance value
IR0 el H g Ry

A2 . .

7 Reducing the capacitance value
URIAT HIF Pl HH PR

A3 . .

.~ Increasing the capacitance value
YR 7 o 9fg b

A4 . .

" Increasing the value of resistance

TR ST O &) 9gldh

Trade Theory

What is the unit of resonance frequency?

TS SR P 3HE T ?

:Al Ohm
Ohm

f\2 Hertz
Hertz

:A3 Volt
Volt

64 Ampere

Ampere
Trade Theory

Find the total inductance value of two inductors 10H and 15H of connected in series.

ot B 3 21 IR 100 3R 15H F Fl IRebed BT A T BIond |

Al osh

05 H



A2 om

10H
:A3 15H
I5H
Moasu

25H
Trade Theory

11 1 What is the name of effect of changing current in one coil, induces EMF in nearby coil?

TS DA A YR IGT & YHIT TR UMY P Hisd A EMF B URd 81N aTd UHTT BT =1 1 82

.Al Coupling
gEq

52 Induction
w7

Self induction

W IR

54 Mutual induction

3 DROT

A3

Trade Theory

12 12 What is the purpose of using laminated core in transformer?

SRIBTHR T AT SR 61 IUINT I3 I I8 31 82

Al Reduce copper loss

A BT Bl B HRAT

52 Reduce hysteresis loss

e ffia g & HH B

AS‘ Reduce mechanical loss
TifAes &ifd o1 HH BT
54 Reduce eddy current loss
TSI HE B bl HH BT
Trade Theory
13 13 Which type of transformer is used for high frequency application?

F STGIRT M & T o UebR b iR o1 Suai foba wirell &2

_Al Ring core transformer
T ER TRBER

'AZ Ferrite core transformer
PRIST HR TRABIER

A3 .0

7 Silicon steel core transformer
e €id ®R Wk

,A4 Grain oriented core transformer

Trade Theory

14 14 Calculate the total capacitance value in the circuit.

e ® Tt YidT &1 IH Bt 70 Bioi,

2.0

2.0

2.0

2.0

0.00

0.00

0.00



Al 0 16 uF

0.16 pF
_AZ 6 uF
6 uF
A3 30 uF

30 uF
64 70 pF

70 uF
Trade Theory

‘Which condition is called as resonance RLC circuit?

foru R 1 efgTe SRUah Tfdhe g are?
Al x> xc
,Az X=Xy
Xe>Xp
A3 X =Xc
XL=Xc
AdR<x,
R<X|

Trade Theory

What is the meaning of maximum safe reverse voltage across a diode?

IS T 3ifian GRfErd R dieest o1 aref 82

_Al Peak Inverse Voltage

1 3799 e
'A2 Knee voltage

RIS

53 Break down voltage

faggd 9@ S8 dlees

'A4 Reverse break down voltage

R 5% B3 A

Trade Theory

What is the peak inverse voltage of germanium diode?

SHfH TS o1t 379 diees T 87

Al sy

03V

2.0

2.0

0.00

0.00



20

20

AZogv

0.7V
Mosv
08V
Moy

1V

Which impurity is added to pure semiconductor to form ‘N-type’ material?

TA-YHR AN S & o Yt drefarcies & 1 It Srgegeat Siie) St 82

.Al Boron

IR
52 Indium
.AS Arsenic

SIS EED
54 Gallium

fergw

What is the name of the circuit diagram?

lbe 3 o1 A R g2

Trade Theory

Trade Theory

MAINS
240V,50Hz

'Al Bridge rectifier
[ESEES e
62 Amplifier circuit

TEBRR gfhe

f% Regulator circuit

eieR Afbe

54 Modulator circuit

HiseeR Al

Which active components is used as AC to DC converter in rectifier circuit?

IFBRR Fihe § AC ¥ DC HadR & T 7 &9 Iiehy yed &1 SuanT fbar s g2

fM Transformer

TYHTIHR

Al

2 Diode
EiRic]
{\3 Capacitor

e

Trade Theory

2.0

2.0

2.0

0.00

0.00



21

22

23

24

21

23

24

64 Resistor

TfaRle

Trade Theory

Which rectifier circuit uses for four diodes?

TR STATS & 11T b AGHRR Tfdhe o1 SuFNT febar wirern 22

.Al Full wave

HASd

AZ Half wave

g% §a
.AS Bridge

forst

54 Two half wave

Qg% 9

Trade Theory

What type of ripple filter circuit is used for large load current requirements?

3P IS PHiC AMATHISN P T b TR & Ruet ftheex &1 Gfbe o1 IughT fbar s 82

'Al LC filter

Tt fheex

AZ RC filter

IR ftheey
?M Inductor Input filter
TR FYE fheex
?'\4 Capacitor Input filter

uTiA g7Ye fthee

Trade Theory

What is the current through the zener diode with full load condition?

quf diis &1 FRUTY & T SR STATS & HIEH I YRT ST 1N 2

{\1 Zero

L

A2 Minimum

AdH

_A3 Maximum

SfHan

A4 .
~ Remains constant

RRga?

Trade Theory

Which component filters the ripples in the rectifier circuit?

PH 1 9 PR uiuy § a7l o) fibees dear g2

Al piac

DIAC
Al

2 Diode
Diode
A3 TRIAC

TRIAC

2.0

2.0

2.0

2.0

0.00

0.00

0.00



A4 Capacitor

Capacitor
Trade Theory

Which parameter is maintained constant in zener diode?

SR S e a1 iRk RR Earg?

_Al Power

RIES)
:A2 Current
YRT
f\3 Voltage

At

'A4 Resistance

TfeRle

Trade Theory
What is the electrode marked ‘X’ in the TO-5 transistor pack diagram?

TO-5 TifReR Uep 31 & AN ' X " 82

03

9.4

[1]

EM2201C3

_Al Base

EEl
52 Screen

ThH

A3 Emitter

$ifieR

64 Collector

HAFR

Trade Theory

What is the meaning of first letter indicated in the transistor code number BC 107?

TifIReR S T BC 107 B T Ugel 1eR 1 3 R g2

Al . .
" Germanium material used

SHfTH Il o1 AT far

_AZ Silicon material used
Rafre i At o1 gxia foan
AS Antimony material used

S Irf &7 SRS faar

_A4 Indium material used

Zftsoy Ardt &1 SuanT fasar

Trade Theory
Why NPN type of transistors arc preferred over the PNP type transistors?



P TR & IfoReR TR THHIT YR & TiRex 1 ol tRig fobar wirr 32

,Al NPN has lower switching speed

TG # e @1y A B ©

52 NPN has good bias stability

e H 31 gatue fRRdr gkt &
NPN has higher switching speed

NPN H I iR iy @t &
?(\4 Low operating voltage

g sifoRfd e

A3

Trade Theory

How the negative feedback is called?

THRIAD Uifhar B! 1 el Sl 82

Al Regenerative feedback
JoRea ufafsear

_AZ Degenerative feedback

SiorRfea ufafseam

:AB Current controlled feedback
yr1 Fifa ufafosan
:A4 Voltage controlled feedback
diees g wfafesar
:l“rade—_Tlleory

Which one is called universal bias?

TG SO 8 Hel Sl 82

{\1 Voltage divider bias

e Slag e aaY

52 Base bias

STUR S

{\3 Emitter bias

TSI I

.A4 Collector bias

Faae T

Trade Theory

Which is having three terminal device?

g d e fearsa &2

_A] Diode
s

?AZ Transistor
gifoRer

:AS Capacitor
BSiie

%4 Resistor
ufeRly

Trade Theory

Which is also known as small signal amplifiers?



5 g Ryvret Troeli ekt & =g § ot 7 wirem 82

,Al Low power transistors

o ureR giforex

?AZ High power transistors
I UIR ¢iforer

:AS Medium power transistors

T UTaR giforeR

{\4 Very high power transistors

Fgd 3 UTeR TifoRex
Trade Theory

What is the current gain of common collector amplifier?

3TH AT TUATBRR BT TaA AT T 82

A2 High
High

53 Medium

Medium
64 Very high
Very high
> '_l'rad;_ Theory

What is the type of amplifier configuration?

THHHRR HIRAIRR BT UHR T 82

TERMINALS OUTPUT
TERMINALS

l

{\1 Common base

DI o

A2 .
~~ Common emitter

B $HIEY
{\3 Common collector
P Bt

_A4 Paraphase amplifier

RIS TIHHRR

Trade Theory
What is the current gain of a common - base amplifier?

TP DI S TG BT BE I 132



Al Unity

52 Infinity
Sl

AB Greater than 1

13 afe e

54 Less than 1

1959
Trade Theory

What is the formula used to calculate the current gain (o) of common base amplifier?

DI ST TTADBRR & BIC ATH (o) BT UM B P O1T STTNT 51 W1 a1l G 1 32

Alle 1
Ie+Ig
AZ1g+1g
Ig+I¢
Myt
Ig + I
A =ic
Ig = lc

Trade The_ory
Which configuration of transistor amplifier is most commonly used in electronic circuits?

TIRTRER THIEHRR BT BIF T 9= Saaeiive Hide B Ja3 3ifiies SUTIT T ST 32

Al Common base configuration

BT 8 BIBIRRA
A2 . q
.~ Common emitter configuration
P TR BIBTRYA
A3 . .
.~ Common collector configuration
P HATER PIBTIREA
A4 . . .
. Common drain amplifier configuration

P S TIABRR BB

Trade Theory

What is the use of transistor?

TifReR &1 ST T 82

Al actoDC

ACto DC

:A2 Reducing electrical signal
faggd Yod & &1 S

?‘3 Reducing voltage

gleesl Y HIAT

_A4 Amplifying small electric / Electronic signals

o Safee / 3o Rl 1 et Feet
Workshop Calculation Science
What is the product of 0.003 x 0.5?
0.003 x 0.5 BT UM T 82



Al 000015

0.00015

A2 0.0015
0.0015

E

0.015

Workshop Calculation Science

40

40

What is the square root of 529?

529 T GTIHE 1 2

Al
13
AZ 53
23
A3 33
33
M3

43

41

41

Convert 0.456 decim:

Al

2 4.56%

4.56%
A3

A 0.456%
0.456% O‘

2.0

Workshop Calculation Science

42

at is the S.I unit of heat?

P T3S, THTS T 82

‘:Al Calorie
Calorie
;A2 Joule
Joule
i“ Centigrade heat unit
Centigrade heat unit
A4

. British thermal unit

British thermal unit

2.0

Workshop Calculation Science

43

43

‘What is the value for specific heat of water?

Tt Bt fafrse e 1w T 82

Aly

2.0

0.00




A2
A3
A4

Workshop Calculation Science

Which instrument is used to measure heat?

ST BT HIU F o [T I o1 Juhi forar wirar 82

fM Calorie meter

Fad fex

{\2 Thermometer

yAT HieR
53 Pyrometer

RIeR

_A4 Barometer

R

Engineering Drawing

Identify the conventional symbol of material?

A b URURS Vel bl Uga|

EDNG1811003

.Al Lead
5N

§A2 Steel
TWId
f% Glass
EE)
fM Porcelain

= firedt

Engineering Drawing
Identify the conventional symbol of material?

& URURS Tl Bl Uga|

v # ¥ &
2 A

EDNG1811004




! Concrete
wifd erdn
A2 Steel
ERSIG
Wood
e

Glass

A3

A4

&g

Engincering Drawing

47

47

Identify the conventional symbol of material?

Il & URuie Udie &) ugaH |

Y

A
hi
i
-
- A
M i
¥ ¥
EDNG1811005

Al Sieel

Euin]

Wood

B!

A2

B
Ad Concrete

3

) ]

48

What is the trimmed size of A4 sheet?
A4 e Brfen 3T 3TBR T2

841x 9
84 X 1189
594 x 841
594 x 841
3210 x 297
210 x 297
4148 x210

148 x 210

2.0

Engineering Drawing

49

Which drawing dimension is correct as per IS standard?

1S A 3 SIER D I ST AW et 82

Al

2.0




A2

A3

A4

Engineering Drawing
50 50 Identify the name of prism?

o 7 fozame e sy 1 T B2

ECNGH 12008

,A] Rectangle prism
3 forsH

A2 .

.7 Square prism
IR fUsH

53 Triangular prism

Breprita e

54 Hexagonal prism



51

52

53

54

51

52

53

54

I fied

Employability Skills

Fill in the blank with correct future tense of verb. “We

foran & Tl Uiasy HIat & Ty Rad RIM R | “We

to the zoo after Breakfast

to the zoo after Breakfast

Al went

went
2 .
are going
are going
{\3 had gone
had gone
4 will go

will go
Employability Skills
Fill in the blank with correct word. “They good friends”

o & 98 2rsg WR | “They good friends”

am

A3
. are

are

. Employability Skills

Fill in the blank with present progressive tense of the verb. “The train

foran & gam Ifaiter Srep e Ty e R R 1 “The train

,Al passed
passed
2. .
is passing
is passing
AS had passed
had passed
4 .
was passing

was passing

Employability Skills

through the tunnel”

through the tunnel”

Fill in the blank with proper interrogative adjective. are you going?

Gﬁﬁmﬁaﬁ'ﬁw%mqﬁﬂﬁwlﬁl are you going?

Al Who

Who
:A2 Where

Where
A Which

Which
,A4 What

What

2.0

2.0

2.0

2.0

0.00

0.00

0.00



Employability Skills
55|55 Fill in the blank with proper pronoun. “I made this cake » 2.0

Raa = # I T4 & 1Y W1 “1 made this cake »

! myself
myself
2 yourself
yourself
A3 Bimself
himself
A% el

itself
Employability Skills
56 56 Fill in the blank with proper pronoun. “She made this cake ” 2.0

o =i o 3o Y™ & 1Y W31 “She made this cake ”

_Al itself
itself
A2 myself
myself
,A} herself
herself
'A4 himself

himself

_ | Employability Skills
57 57 Fill in the blank with proper reflexive pronoun; “She has hurt . 2.0

o =i o 3o Ufdad! a1 & T 43| “She has hurt ”

! myself
myself
f\Z herself
herself
.A3 himself
himself
A% fielf

itself
Employability Skills
58 58 Fill in the blank with suitable adjective for the given sentence “The little girl’s...... eyes revealed her mischief” 2.0

f?q T 9T E2 T%TQ SUYad faRIwur & g1y fRad R HR “The little girl’s...... eyes revealed her mischief”

f‘l chubby
chubby
52 weak
weak
3 short sighted
short sighted
:A4 twinkling
twinkling

Employability Skills
59 59 Fill in the blank with suitable place preposition. “My house is the third floor” 2.0

0.00

0.00

0.00



60

61

62

63

60

61

62

63

Jugad R gdaf & a1y e R W | “My house is

,Al at
at
in
in
A3
. on
on
A4 under

under

Fill in the correct question word.

T UY g WY | «

A

! What
What
:A2 When
When

A3 Why
Why
,A4 Who

Who

Low level language is also called

Employability Skills
is the speaker at the function?”

is the speaker at the function?”

Employability Skills

9 TR B U BT oy g1 ST |

! source code
I Hig

2 middle ware
Y

3 .
machine language
ERIERY

4
assembly language

SIS HTST

Pronunciation refers to

Employability Skills

.A] diphthong
Tgad TR

2
consonant
E:eE)

3 .
punctuation
[EREAET

54 production of sound

G &1 3G

Re-arrange the following set of words into meaningful sentence. “teacher / school / worked / she / a / as”

eg) & FEfead e & grdfe arey F fohR I s9afRUd B “teacher / school / worked / she / a / as™

Employability Skills

the third floor”

2.0

2.0

2.0

0.00

0.00



64

65

66

67

64

65

66

67

_Al School worked as a she teacher
School worked as a she teacher

.A2 She worked as a school teacher
She worked as a school teacher

A3

.~ She teacher worked as a school
She teacher worked as a school

,A4 Worked she as a school teacher

Worked she as a school teacher

Rise and fall of pitch of voice is called

AT 1 e BT o1 SR IR
Al
. vowel
IR
2 intonation
ST pT SAR-deld
3
consonant
E:SE)
A4 .
. pronunciation

Employability Skills

Eb%?«n?n%

Employability Skills

The word that expresses a sudden and strong feeling is called

IE Yot 1l S SR TS HTa-T e HRl & B9

Al punctuation

farm forg
2 interjection
fawmanfeaiy®
conjunction
ThIeH & ¥4
4 apostrophe

TIIETRT

ﬁrw%

Employability Skills

When you greet higher official’s such as Teacher, Instructor or Supervisor, you should use

T 31Ty e, Tinerd o1 Widerd S I ifAeTRAl BT SHfiaTe HRd 8, @ !

ey

A

! Good morning
TS Hi
2 Hello

Gl

Al

Employability Skills

Which is a silent letter in the word “ANSWER”?

'WWW

2.0

2.0

2.0

0.00

0.00



“ANSWER” 915 & BIF 1 b /&R 37

Al g

R

2

E
A

S
A4

Employability Skills

Which one is a “Do’s” of discussion etiquettes?

=1t % RIPERI A B9 91 “Do’s” 82

fM Loose your temper
S{OAT 31T @Y

:A2 Listen to others
Tl g

{\3 Talk about irrelevant details

ST TRl & IR &1 oY
54 Use impolite or rude language
31UZ 7 ST HTHT BT ST B

~ Employability Skills

Which one is a “Don’t” of discussion etiquette?

==f TR BT “Don’t”%?

:A] Be open minded
[EIURCRIRSCR

A2 Use moderate tone
T TR BT UGN B

:A3 Listen to others
TR B

A4 Argue unnecessary
SATRID T DY

Employability Skills

Which one is a brain of computer?

HHCR BT AR B 187

‘_Al Keyboard
Fhare

CPU

ddig

{B Monitor

AR

,A4 Hard disk

TTe {5

A2

Employability Skills

Which one is a cardinal number?



PIETT TR B T 22

A3 ynp

VIl
A
XI

72 72 Which one is a cardinal number?

PIETT TR BT AT 22

Al One

%

A2 Eign

A
A

3 Eighth

SUGEL

54 Second

U

373 Which one is an exclamatory sentence?

DI 1 ety ae g2

A1 What a beautiful house it i!
What a beautiful housefit is!

52 It is a beautiful house.
It is a beautiful house.

?‘3 Is it-a beautiful house?
Is it a beautiful house?

‘_A4 Your house is beautiful.

Your house is beautiful.

74 74 Which one is in active voice?

iy 3fTaTel § B9 172

.A] Ram has passed the exam.
Ram has passed the exam.
52 The ball was caught by him.
The ball was caught by him.
A3 .
.~ The book was being read by her.
The book was being read by her.

54 We were driven home by dad.

We were driven home by dad.

75 75 Which one is in passive voice?

fRfepa s § P a1 2

Employability Skills

~ Employability Skills

Employability Skills

Employability Skills

2.0

2.0

2.0

2.0

0.00

0.00



A

! Mohan is painting a house.
Mohan is painting a house.
{XZ She was reading a book.

She was reading a book.
A3

7 Her birthday was celebrated by us.

Her birthday was celebrated by us.

54 I have seen that movie.

I have seen that movie.
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Actual Question Number

Correct Alternative position

1 A2

2 A4

3 A4

4 A3

5 Al

6 A4

7 A4

8 A2

9 A2
10 A4
11 A4
12 A4
13 A2
14 A2
15 A3
16 Al
17 Al
18 A3
19 Al
20 A2
21 A3
22 A4
23 A3
24 A4
25 A3
26 A3
27 A2
28 A3
29 A2
30 Al
31 A2
32 Al
33 A4
34 A3
35 A4
36 Al
37 A2
38 A4
39 A2
40 A2
41 Al
42 A2
43 A4
44 Al
45 A2




46 A4
47 A4
48 A3
49 Al
50 A2
51 A4
52 A3
53 A2
54 A2
55 Al
56 A3
57 A2
58 A4
59 A3
60 A4
61 A3
62 A4
63 A2
64 A2
65 A2
66 Al
67 A4
68 A2
69 A4
70 A2
71 Al
72 Al
73 Al
74 Al
75 A3




